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Multiplikation mit Dezimalen (vertikal) Name:

L 6se jede Aufgabe. Antworten
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L 0se jede Aufgabe.

1)

4)

7)

10)

Multiplikation mit Dezimalen (vertikal)

Name:

L dsungsschltissel

5,04

Y

0

+ 35280

35,280

6,28

. 8,9

5652

+ 50240

55,892

2,58

+ 10320

10,320

84,5

. 2,8

6760

+ 16900

236,60

2)

5)

8)

11)

51,17

. 5,9

46053

+ 255850

301,903

76,85

. 7.4

30740

+ 537950

568,690

11,73

10557
+ 70380

80,937

754,2

. 6,8

60336

+ 452520

5.128,56

3)

6)

)

12)

8,1
e« 53
243
+ 4050
42,93

8,7

+ 6090
60,90

8,9

623
+ 5340
59,63

9,5

285
+ 5700
59,85

9.

Antworten

35,280

301,903

42,93

55,892

568,690

60,90

10,320

80,937

59,63

10.

236,60

11

5.128,56

12.

59,85
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# Multiplikation mit Dezimalen (vertikal) Name:

L 6se jede Aufgabe. Antworten
10,320 35,280 80,937
59,63 568,690 55,892 1.
301,903 60,90 42,93
1) 5,04 2) 51,17 3) 8,1
. 7.0 . 5,9 5,3
4) 6,28 5) 76,85 6) 8,7
. 8.9 . 7.4 7.0
7) 2,58 8 11,73 9) 8.9
. 4,0 . 6,9 6,7
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